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QUESTION 1

After completing the installation of a DS224C shelf, you observe the error shown in the exhibit. Which action should you
take to troubleshoot the error? (Choose two.) 

A. Re-seat the IOM module. 

B. Re-seat the SAS card. 

C. Perform a takeover-giveback. 

D. Reconnect the SAS cable. 

Correct Answer: AD 

 

QUESTION 2

You install a new 2-node FAS8200 switchless cluster. You want to reach all necessary management LIFs and SPs for
this cluster. 

How many management IP addresses do you need in this scenario? 

A. 1 

B. 2 

C. 5 

D. 4 

Correct Answer: C 

 

QUESTION 3

You have a 2-node switchless cluster in a remote location. Node1 has taken over node 2. You want to access node 2 to
investigate the problem. 
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In this scenario, how would you contact node 2 from a remote location? 

A. Use SSH to access the Service Processor on node 2. 

B. Use telnet to access the Service Processor IP on node 2. 

C. Use SSH to access the node management IP on node 1. 

D. Use SSH to access the node management IP on node 2. 

Correct Answer: A 

 

QUESTION 4

An iSCSI LIF fails to migrate during a storage failover test. In this scenario, why did the LIF not migrate? 

A. A failover port was not defined. 

B. LIFs that serve block protocols do not failover. 

C. The failover policy was not configured. 

D. LIF failover was not enabled. 

Correct Answer: B 

 

QUESTION 5

You just finish the installation of a single-node cluster. You want to make sure that the cluster backups are saved to a
different location. 

What is required to accomplish this task? 

A. Set up AutoSupport 

B. Enable copy offloading. 

C. Set up SVM disaster recovery. 

D. Configure a system configuration backup. 

Correct Answer: D 
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